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RESENJA ZADATAKA

l.a) I, =500pA: V,=-2V: V, =5V,
1.‘

b) a=-2=g¢, (R,IIR,)=75; g, =1mS
v,

V,!?fﬂnmx = H]in{vaa\; B 'i},’P;'I',’P B .',Pnu'n }: 3?5V

4.

Vi[V]=Vee =—12V =const, za —12V v, < -4,5V (IOP- neg. zas., D,-ON, D,-OFF);
v, [V]=2v,[V]-3,za —4,5V =y, <-1.,5V (IOP- lin. rezim, D,-ON, D,-OFF);

v, [VI=4v [V], za —1,5V < v, <1,5V (IOP- lin. rezim, D, -OFF, D,-OFF);

v [V]I=2v,[V]+3,za 1.5V v, 4,5V (I0OP- lin. rezim, D, -OFF, D,-ON):

v [V]I=Vo =12V =const , za 4,5V v, <12V (10P- poz. zas, D,-OFF, D,-ON).



